782 Equations

L,(X,&,) =L, (X,@,) +
[ £, (x,@,,@)L,(x,8,)c0s6,da,
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do @& cosé
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— dLO(p’a)o) — dLo(pla)o)
- dE(p,@) Li(p,w;)cosbdw,

fr(p’wo’a)i)

Lo(p,) = | . (P, )i (p.@,)cos b,

dd,(p) g f(p, @, @)L (p, ) cos(d,)cos(6,)dw,dw,

PP G0,(p) ~ [J L (x, ) cos(8)day
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pu(po)==] . f(po,0)0s0/do
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P (P) = ;J.Hz(n)J.Hz(n) f.(p, o, a)i)\cos 6, cos Hi\da)oda)i
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Y = exp(%z log(6 +Y,(x, Y))j

Bi(x.v) — Byg(x.y)

Icl5.x.v) _
' : Bylx.v)

onrld (1+ Y ()Z, y))

Ydisplay (X, y) = white
1+Y white

_Y(xy)
T (X, Y,5)

1 332 +'9'2
Biwy,8) = 057 &P (_W)

Vi(z,y,s) = L(z,y) ® Ri(z,y, s)
‘/1(:3: Y, S) - ‘/2(3;7 Yy, 8)

V(z,y,s) = 2%a/s? + Vi(z,y, s)
Y(X,Y)

Y, (X, y) =

a (%) 1V, (X, Y,5,)

X = j x(1)S(1)dA
Y = j y(2)S(A)dA
Z= j 2(1)S(A)dA

R = j w(A)L(A)dA

X 0.5149 .3244 .1607 | R
Y |=]0.2654 .6704 .0642 || G

YA 0.0248 .1248 .8504 || B



n;sin@, = n,sin 6,
N xl=nNxT

_ 1,C0S6, —n,;cos 6,

~ 13,C086; + 17,C0S 6,

_ 1,;€086, —1,C0S6,
17,086, + 17,056,
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F ()= 6 +r?)
F0)=0-F, (@)

, (7" +K*)c0s? 6, —277c0s 6, +1
hi :( 2 2 2
7’ + K)o’ 6, + 21708, +1
o (7" +k*)~27c0s6, + cos’ 6,
" (7" +K*)+2nc0s6, + cos’ 6,
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. mir{L 2(N- @, XN - @,) 2(N - a2, N 'a)i)}

(@, ) ' (@, o)

DN (B’ P)zsup#{xi—Eb}
beB

—Vol(b){




